Q.2 ‘3T HIUZI UTST Uifgat. — reuRf@a aregran st ez swlvrar ang ?

Ans o 1. dchal
X 2. g
X 3.2
X 4 3R
Question Type : MCQ
Question ID : 630680291853
Option 11D : 6306801135294
Option 2 ID : 6306801135295
Option 31D : 6306801135293
Option 4 1D : 6306801135292
Status : Answered
Chosen Option : 1
Q.3 ‘B g arEe AT ATEl. — JERTET U} SHisdl.
Ans o 1. TR
X 2. Ay
X 3. Fgrrefi
25 4. usmdt
Question Type : MCQ
Question ID : 630680291842
Option 11D : 6306801135249
Option 2 1D : 6306801135251
Option 3 1D : 6306801135248
Option 41D : 6306801135250
Status : Answered
Chosen Option : 1
Q.4 wrelt ggasie e Reet srga idter ghrar uafa wiorar ag ?
Ans o 1. FlEEr - 99
25 2. Tgardt - gst
X 3. ur=art - T
X 4 gafdt - 53t
Question Type : MCQ
Question ID : 630680291845
Option 11D : 6306801135262
Option 21D : 6306801135263
Option 31D : 6306801135261
Option 41D : 6306801135260
Status : Answered
Chosen Option : 1




Q.5 ‘it ATE FATEl giot AT areRrERET Y @retadh! siorar g ?

Ans o 1. SHINIT &= Bl
X 2. @U Hig e
< 3. A do
X 4. gelel 0l
Question Type : MCQ
Question ID : 630680291846
Option 11D : 6306801135264
Option 2 ID : 6306801135265
Option 31D : 6306801135267
Option 4 1D : 6306801135266
Status : Answered
Chosen Option : 1
Q.6 < MEylE a9 At '
Ans X 1. Uigol
o 2. IS
X 3. FdaEs
X 4 faEan
Question Type : MCQ
Question ID : 630680291849
Option 11D : 6306801135276
Option 2 1D : 6306801135279
Option 3 1D : 6306801135277
Option 41D : 6306801135278
Status : Answered
Chosen Option : 2
Q.7 & areRrER a aard 3 RS snga aaidie a<tar gafy &torar smg ?
Ans X 1. 7& gret - At ol
25 2. TSIRI0T &R0T — Hechd! she0!
/X 3. ST FIET FHIGU! - Teh ISl U3 GU=T ShiedTell 10!
o 4. wfieh fdaot - §g AR 3ot
Question Type : MCQ
Question ID : 630680291847
Option 11D : 6306801135269
Option 21D : 6306801135268
Option 31D : 6306801135271
Option 41D : 6306801135270
Status : Answered
Chosen Option : 4




Q.8 WreiteTdeh! hioTd wrde = 78 ?
Ans X 1. &g

o 2.
X 3. &I
X 4. &>

Question Type : MCQ
Question ID : 630680291841
Option 11D : 6306801135246
Option 2 1D : 6306801135244
Option 31D : 6306801135245
Option 41D : 6306801135247
Status : Answered
Chosen Option : 2

Q.9 FHIUHEATIHR 36 e HiodEl.
Ans X 1. dfbnfa

X 2. St
X 3. Rty
o 4. R

Question Type : MCQ
Question ID : 630680291850
Option 11D : 6306801135283
Option 2 1D : 6306801135280
Option 31D : 6306801135281
Option 41D : 6306801135282
Status : Answered
Chosen Option : 4




1 grrant ereai=aT AT SEAr .

‘W T I
a) T ) Al
b) =g i) T
c) FHAD iii) 3relr
c) FAD iv) I
V) 9ey

Ans X 1. a-iv, b, i, d-v
o 2. a-iv, b, c-ii, diii
X 3. a-, b, cii, dHiii
X 4. a-i, briv, cHiii, d-ii

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
630680291852
6306801135288
6306801135289
6306801135291
6306801135290
Marked For Review
1

Q.11 Wreflerdeh! U aTer aTaRoT=AT FaHITaER Mg ?
Ans X 1. g gledie 918t ey 3iTg $U.

X 2. gledier urast U Wy 3¢ Aol
X 3. grasl Aid] EEH 39 gledid e,

o 4. UTEel FUY giedlet AT TaRH 3R,

Question Type:
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
630680291843
6306801135252
6306801135253
6306801135255
6306801135254
Answered

4




Q.12 ‘T, &8 f@wrera Ierex’ — aidie slord A ATgl ?

Ans o 1. 35S
25 2.3
X 3. fgurer
X 488
Question Type : MCQ
Question ID : 630680291840
Option 11D : 6306801135241
Option 2 ID : 6306801135240
Option 31D : 6306801135242
Option 4 1D : 6306801135243
Status : Answered
Chosen Option : 1
Q.13 ‘smgt AR uTe=T @Al - a1 arerTte wiurar e foRar guf weat ?
Ans X 1. 3mgl
X 2. uREsRTE
25 3. e
o 4. &t
Question Type : MCQ
Question |ID : 630680291839
Option 11D : 6306801135236
Option 2 1D : 6306801135237
Option 3 1D : 6306801135238
Option 41D : 6306801135239
Status : Answered
Chosen Option : 4
Q.14 ‘&hetet IUSRR FATOTOTIRT !
Ans f 1. FdT
X 2. 9ge
X 3. foraem
X 4 s
Question Type : MCQ
Question ID : 630680291844
Option 11D : 6306801135256
Option 21D : 6306801135259
Option 31D : 6306801135258
Option 41D : 6306801135257
Status : Answered
Chosen Option : 1




Q.15 Rawar gafaig Mgy oz st
Ans X 1. 3o

X 2. ddeA

o 3. I

X 4. 3id:aeRl

Question Type : MCQ
Question ID : 630680291851
Option 11D : 6306801135287
Option 2 ID : 6306801135286
Option 31D : 6306801135284
Option 41D : 6306801135285
Status : Answered
Chosen Option : 3
Section : English Language
Q.1 Select the most appropriate article to fill in the blanks for the given sentence: Mark “No
article” if there is no requirement of article.
lights are dimmed at the restaurant.
Ans X 1.an
o 2. The
75 3. No article
X 4a
Question Type : MCQ
Question ID : 630680291864
Option 11D : 6306801135338
Option 21D : 6306801135336
Option 31D : 6306801135339
Option 41D : 6306801135337
Status : Answered
Chosen Option : 2
Q.2 Select the most appropriate verb to fill in the blanks for the given sentence:
My doctor advised me to smoking.
Ans X 1. giving up
o 2. giveup
7% 3. gave up
25 4. given up
Question Type : MCQ
Question ID : 630680291868
Option 11D : 6306801135355
Option 21D : 6306801135354
Option 31D : 6306801135353
Option 41D : 6306801135352
Status : Answered
Chosen Option : 2




Q.3 Choose an option, which can be substituted for a given word/sentence/phrase out of given
options.

Examination of a dead body
" 1. Autopsy
2% 2. Surgery
X 3. Biopsy
75 4. Operation

Ans

Question Type : MCQ
Question ID : 630680291860
Option 11D : 6306801135323
Option 21D : 6306801135321
Option 31D : 6306801135322
Option 41D : 6306801135320
Status : Answered
Chosen Option : 1
Q.4 Choose an option, which can be substituted for a given word/sentence/phrase out of given
options.
Rohit is greedy for money. His colleagues call him
Ans X 1. spendthrift
X 2. cynic
2% 3. Splendid
o 4. avaricious
Question Type : MCQ
Question ID : 630680291861
Option 11D : 6306801135325
Option 21D : 6306801135327
Option 31D : 6306801135326
Option 41D : 6306801135324
Status : Answered
Chosen Option : 3
Q.5 Choose the most appropriate meaning of the below mentioned word from the below
options:
Redundant
Ans X 1.insufficient
/X 2. sparse
/X 3. inadequate
& 4. unnecessary
Question Type : MCQ
Question ID : 630680291855
Option 11D : 6306801135301
Option 21D : 6306801135303
Option 31D : 6306801135300
Option 41D : 6306801135302
Status : Answered
Chosen Option : 3




Q.6 Choose the most logical order of the words from among the four given choices to construct
a sentence:

A)all companies involved in pharmaceutical operations
B)Many countries worldwide
C)from harmful drug impacts

D)to protect citizens
E)have implemented regulations on
Ans X 1.DEBAC
25 2. EABCD
o 3. BEADC
/< 4. BADEC
Question Type : MCQ
Question ID : 630680291863
Option 11D : 6306801135332
Option 2 1D : 6306801135335
Option 31D : 6306801135334
Option 41D : 6306801135333
Status : Answered
Chosen Option : 3
Q.7 Select the most appropriate verb to fill in the blanks for the given sentence:
Yesterday we went to the cinema and a great movie.
Ans X 1. had see
X 2. had saw
X 3. seen
o 4. saw
Question Type : MCQ
Question ID : 630680291866
Option 11D : 6306801135346
Option 2 1D : 6306801135347
Option 31D : 6306801135344
Option 41D : 6306801135345
Status : Answered
Chosen Option : 2
Q.8 Parts of the following sentence have been given as option that contains an error in spelling.
If you don't find any error, mark “No error” as your answer.
Every individual is a member of a specific culture that shapes their worldview, opineons,
behaviours, and daily activities.
Ans X 1.Noerror
" 2. opineons
X 3. activities
X 4. specific
Question Type : MCQ
Question ID : 630680291856
Option 11D : 6306801135306
Option 2 1D : 6306801135307
Option 31D : 6306801135305
Option 41D : 6306801135304
Status : Answered
Chosen Option : 2




Q.9 Select the most appropriate verb to fill in the blanks for the given sentence:

When she arrived at the airport, the plane off.

Ans X 1. had taking
X 2. had took
o” 3. had taken
< 4. istook
Question Type : MCQ
Question ID ; 630680291867
Option 11D : 6306801135350
Option 2 1D : 6306801135348
Option 31D : 6306801135349
Option 41D : 6306801135351
Status : Answered
Chosen Option : 3
Q.10 Choose the most appropriate meaning of the below mentioned word from the below
options:
Rattled
Ans X 1. confident
X 2. calm
o 3. irritated
/< 4. composed
Question Type : MCQ
Question ID : 630680291854
Option 11D : 6306801135299
Option 21D : 6306801135298
Option 3 1D : 6306801135297
Option 41D : 6306801135296
Status : Answered
Chosen Option : 3
Q.11 Select the most appropriate article to fill in the blanks for the given sentence: Mark “No
article” if there is no requirement of article.
_____first thing you need to do is take a look at your resume.
Ans X 1. No article
o 2. The
X 3.an
X 4a
Question Type : MCQ
Question ID : 630680291865
Option 11D : 6306801135343
Option 21D : 6306801135342
Option 3 1D : 6306801135341
Option 41D : 6306801135340
Status : Answered
Chosen Option : 2




Q.12 Choose the most appropriate meaning of the below quoted idiom from the below options:

"Every cloud has a silver lining”
25 1. Something that ends at the last minute

Ans
/X 2. All the difficult situations in life leads to a negative result only
o” 3. every sad or unpleasant situation has a positive side to it.

25 4. Aimost anything and everything is included

Question Type : MCQ
Question ID ;: 630680291859
Option 11D : 6306801135319
Option 2 1D : 6306801135317
Option 31D : 6306801135318
Option 41D : 6306801135316
Status : Answered
Chosen Option : 3
Q.13 Choose the most appropriate meaning of the below quoted idiom from the below options:
"Cut corners”
Ans X 1. To do everything possible
o 2. To do something quickly by doing it in a less thorough way than you should.
2% 3. To not take shortcuts while doing anything
X 4. To do things with proper planning and executing it in a timely manner
Question Type : MCQ
Question ID : 630680291858
Option 11D : 6306801135313
Option 21D : 6306801135315
Option 31D : 6306801135314
Option 41D : 6306801135312
Status : Answered
Chosen Option : 2
Q.14 Parts of the following sentence have been given as option that contains an error in spelling.
If you don't find any error, mark “No error” as your answer.
By implementing iffective recycling methods, we can reduce the amount of plastic waste
and contribute to preserving the environment.
Ans X 1. preserving
2% 2. No error
o 3. iffective
75 4. implementing
Question Type : MCQ
Question ID : 630680291857
Option 11D : 6306801135308
Option 21D : 6306801135310
Option 3 1D : 6306801135309
Option 41D : 6306801135311
Status : Answered
Chosen Option : 3




Q.15 Choose the most logical order of the words from among the four given choices to construct

a sentence:
A)of these
B)Children by providing
C)Care
D)It safeguards
E)the rights
Ans X 1.EDABC
o 2. DEABC
X 3.BADCE
< 4. ABCDE
Question Type : MCQ
Question ID : 630680291862
Option 11D : 6306801135330
Option 2 1D : 6306801135329
Option 31D : 6306801135331
Option 41D : 6306801135328
Status : Answered
Chosen Option : 2
section : General Knowledge
Q.1 What has the Qutub Minar complex of buildings been declared as?
Ans X 1. Ascience city
o 2. A heritage site
25 3. Amuseum
X 4. Aresearch centre
Question Type : MCQ
Question ID : 630680291871
Option 11D : 6306801135364
Option 21D : 6306801135365
Option 31D : 6306801135366
Option 41D : 6306801135367
Status : Answered
Chosen Option : 2
Q.2 The average elevation of Western Ghats is metres.
Ans X 1.800-1200
o 2.900-1600
/< 3.700-1400
< 4.600-1000
Question Type : MCQ
Question ID : 630680291873
Option 11D : 6306801135374
Option 21D : 6306801135372
Option 3 1D : 6306801135373
Option 41D : 6306801135375
Status : Answered
Chosen Option : 1




Q.3 Which central government ministry is responsible for measuring GDP in India?

Ans X 1. Ministry of Human Resource Development
25 2. Ministry of Finance
2% 3. Ministry of Commerce & Industry

& 4. Ministry of Statistics & Programme Implementation

Question Type : MCQ
Question ID : 630680291872
Option 1 1D : 6306801135371
Option 21D : 6306801135368
Option 31D : 6306801135369
Option 41D : 6306801135370
Status : Answered
Chosen Option : 2
Q.4 Zusedia WA gafa 713 7E= @R Sl g, S AgRIEE YR 3 doaided
qERee 318?
Ans X 1. adi @R
X 2. Fun @R
X 3 Fdgr @R
o 4. e @R
Question Type : MCQ
Question ID : 630680291879
Option 11D : 6306801135397
Option 2 1D : 6306801135396
Option 31D : 6306801135398
Option 41D : 6306801135399
Status : Answered
Chosen Option : 4
Q.5 WRATHA ATHR IUTFHTT AT MR Yt ([Tt &g eng?
Ans X 1. gafa @igH
o 2. Faifde Ater
25 3. g waifees Attt
< 4. o gaffaer aisr
Question Type : MCQ
Question |ID : 630680291875
Option 11D : 6306801135383
Option 21D : 6306801135382
Option 31D : 6306801135380
Option 41D : 6306801135381
Status : Answered
Chosen Option : 2




Q.6 R ASAIEAIT HIUIET HBE HY TE FHval 6, ‘ALYl § 9% Tgor dhegr=a1 iy &
ar=r aufear gof sremasfioda ug yRor &t ?

Ans X 1. 3=¢ 53
X 2. =g 54
X 3. AT 55
o 4. T 56
Question Type : MCQ
Question |ID : 630680291878
Option 11D : 6306801135392
Option 21D : 6306801135393
Option 31D : 6306801135394
Option 41D : 6306801135395
Status : Answered
Chosen Option : 4
Q.7 HERIETAIA HIUTAT He2N §T hicodl HEUTS! ST HATel?
Ans X 1. gf@or ggrIE
X 2 afgw e
X 3. dteor gHgfeRART
o 4. T UBR
Question Type : MCQ
Question ID : 630680291882
Option 11D : 6306801135411
Option 21D : 6306801135409
Option 31D : 6306801135408
Option 41D : 6306801135410
Status : Answered
Chosen Option : 4
Q.8 dT® TR Rt Stvrar AR e gar?
Ans X 1. "ehid! RS ghat”
X 2. "gspog fSigamg!”
X 3. "wg g
o 4. '@ g1 AT S geeh 3MTg 30y af Hi el
Question Type : MCQ
Question ID : 630680291883
Option 11D : 6306801135412
Option 21D : 6306801135413
Option 31D : 6306801135414
Option 41D : 6306801135415
Status : Answered
Chosen Option : 4




Q.9 #1989 el aY AgRTETdTe affdes SHTe arau = 48.4°C Algas 1i+t.
o 1. STeTg snfor guf

X 2. FieeTaR 10T FEHAGAR
X 3. fre anfoy Aids
X 4 qag snfor srRmaeht

Ans

Question Type : MCQ
Question ID : 630680291881
Option 11D : 6306801135406
Option 2 1D : 6306801135404
Option 3 1D : 6306801135407
Option 41D : 6306801135405
Status : Answered
Chosen Option : 1
Q.10 HERTETAIE WHTH UTepfae afrea wtord amg?
Ans o 1. USRI @I
X 2. ggady daH
X 3. s
X 4 ¥ere S
Question Type : MCQ
Question ID : 630680291880
Option 1 1D : 6306801135403
Option 2 1D : 6306801135401
Option 3 1D : 6306801135402
Option 41D : 6306801135400
Status : Answered
Chosen Option : 1
Q.11 TS STOTRT ZfaYor-ufSw u1e (SWG) 7000km? 3 éi5thes aamaat 2oy gt g rogienn
stafafayas sfawra g omg.
Ans X 1. e ol e
725 2. hfeeh 0T AGRIE
X 3. deirromn snfor anfaerg
o 4. T 0| A1fFesTg
Question Type : MCQ
Question ID : 630680291874
Option 1 1D : 6306801135376
Option 2 1D : 6306801135379
Option 31D : 6306801135378
Option 41D : 6306801135377
Status : Answered
Chosen Option : 2




Q.12 weurg Rawi-t dleaid Haty= HUaTHTS! ARTST A0 hadt g goaa WahiAa dhell gidl. et

SToTeT WIS UeRIfAd et Tet?
Ans X 1. f&&
X 2. TRt
X 3. gt
o 4. 7Ust
Question Type : MCQ
Question |ID : 630680291869
Option 11D : 6306801135357
Option 21D : 6306801135359
Option 31D : 6306801135356
Option 41D : 6306801135358
Status : Answered
Chosen Option : 4
Q.13 WRH ASAUST HIUTT GeATgew e 11207 AW heledial WHTAA HI0AT HTAT?
Ans X 1. 92 df geArgel
25 2. 73 df geATgSEl
o 3. 86 &t gTATgER
X 4. 42 & geAigeE
Question Type : MCQ
Question ID : 630680291877
Option 11D : 6306801135391
Option 21D : 6306801135390
Option 31D : 6306801135389
Option 41D : 6306801135388
Status : Answered
Chosen Option : 3
Q.14 dfaur g4 afgsl o= Feft smatfoa wwoamE snet gidar?
Ans o 1.9 f29aR 1946
X 2.10 f35ax 1948
X 3.1 @ 1945
X 4.9 f2HaR 1945
Question Type : MCQ
Question ID : 630680291870
Option 11D : 6306801135361
Option 2 1D : 6306801135360
Option 31D : 6306801135362
Option 41D : 6306801135363
Status : Answered
Chosen Option : 1




Ans X 1.2003

Q.15 =hioredT aufl, WiRaTde TREf=aT STahe-T=ar IGdImEATe G-RIadch-1 ShevareTa! TR dgeiahe
i SITAETH I a3 TETE TATUT HI0TTd 3MTeit gidt?

X 2.2001
X 3.2008
o 4. 2005
Question Type : MCQ
Question |ID : 630680291876
Option 11D : 6306801135385
Option 21D : 6306801135384
Option 31D : 6306801135387
Option 41D : 6306801135386
Status : Answered
Chosen Option : 4
Section : Mental Abilty
Q.1 =T + =|ors - 3R, X T|JUTS /| H1E, - FFUTSA + Hg HOT /| FgUIR X g, TF Wt 9" Iea? e,
(72 = 8/3)- 14
Ans > 1. 21
X 2 51
v 3 41
X4 31
Question Type : MCQ
Question ID : 630680291898
Option 11D : 6306801135472
Option 2 1D : 6306801135475
Option 31D : 6306801135474
Option 41D : 6306801135473
Status : Answered
Chosen Option : 3
Q2 v 1T, TH EES T § STEdT S Hadre 0T 39l AN Wled R, o W G &
gra?
Ans % 1. 33
X2 31
3 32
x4 30
Question Type : MCQ
Question ID : 630680291884
Option 11D : 6306801135419
Option 21D : 6306801135416
Option 31D : 6306801135418
Option 41D : 6306801135417
Status : Answered
Chosen Option : 3




Q.3

Ans

*'_*%‘l

@ \

B

ST AB 9Tt HTET SSorem HUA, a7 Tlelioiuh! Soar g gier e guor sfafes swe?

x 1

#

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
630680291895
6306801135463
6306801135461
6306801135460
6306801135462
Answered

4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
630680291887
6306801135429
6306801135430
6306801135431
6306801135428
Answered

4




Q.5 greler e Afeda 3@ B 5 M, SUr=ar JreEdE da1 3 A, g aEsar adt 7 A AEr
1215325385568733577536532573989

Ans ¢ 1. 4
X2 2
v3 3
K45
Question Type : MCQ
Question ID : 630680291889
Option 11D : 6306801135438
Option 21D : 6306801135436
Option 31D : 6306801135437
Option 41D : 6306801135439
Status : Answered
Chosen Option : 3
Q6 Roear afeera 3rem fandh W& 3, U= deEdle A% U e A3
B6&NC!IV2ST8%5#9RS 4@ 7P Z #125 NP23X3XVC
Ans > 1. 9
x23
X3 4
v4 5
Question Type : MCQ
Question ID : 630680291890
Option 11D : 6306801135442
Option 2 1D : 6306801135441
Option 31D : 6306801135443
Option 41D : 6306801135440
Status : Answered
Chosen Option : 4
Q.7
geATReg=ar ? JEY FT IS
113 By 2
Ans 1. 21
v2 1]
X325
X419
Question Type : MCQ
Question ID : 630680291885
Option 11D : 6306801135422
Option 2 1D : 6306801135420
Option 3 1D : 6306801135423
Option 41D : 6306801135421
Status : Answered
Chosen Option : 2




¥ geafiegrear ? SN FT As?
3,8, 15, 24, 35, ?

Ans 5 1. 41
v2 48
X3 43
X4 38
Question Type : MCQ
Question ID : 630680291886
Option 11D : 6306801135426
Option 21D : 6306801135424
Option 31D : 6306801135425
Option 41D : 6306801135427
Status : Answered
Chosen Option : 2
u_g * .
@relter ATfereheitel Jalel FUTAT, HEATHT HI0TAT ST Ager?
1. . 2.3, 13. 3. 19, ), 25 9 I, 77
e X170, 58
X 2 65, 39
X355 39
¢4 60, 37
Question Type : MCQ
Question ID : 630680291896
Option 11D : 6306801135467
Option 21D : 6306801135466
Option 31D : 6306801135465
Option 41D : 6306801135464
Status : Answered
Chosen Option : 4
Q.10 Rajivwalks 10 km towards North. He turns left and walks 10 km. In which direction Rajiv is currently standing from
his starting point?
Ans X 1. North
X 2. South
¢ 3. North East
X 4 West
Question Type : MCQ
Question ID : 630680291894
Option 11D : 6306801135458
Option 2 ID : 6306801135457
Option 3 1D : 6306801135459
Option 41D : 6306801135456
Status : Marked For Review
Chosen Option : 1




Q.11 3T + FgUT - Mg, X OIS | HE, - FgOA + g H0r / FFUTer X HE, OF Weltel T Ioad 2T,
(55 x 5/3) - 18

Ans X' 1. 41
X2 61
v 3 51
X4 71
Question Type : MCQ
Question ID : 630680291897
Option 11D : 6306801135468
Option 2 1D : 6306801135470
Option 31D : 6306801135469
Option 41D : 6306801135471
Status : Answered
Chosen Option : 3
Q12 Find the odd word out of the following options?
Ans X 1. Cornea
X 2. Retina
X 3. Iris
¢ 4 Vision
Question Type : MCQ
Question ID : 630680291888
Option 11D : 6306801135434
Option 21D : 6306801135432
Option 31D : 6306801135433
Option 41D : 6306801135435
Status : Answered
Chosen Option : 4
Q.13 e & fo=ar smg=ar syrarar Herem aneh FAwh e Fo 4. A AdEET F1 A IR
ne X1 gdrer
X 2 HTAT
X 3. ?:H?TT
v 4 HID
Question Type : MCQ
Question ID : 630680291892
Option 11D : 6306801135451
Option 2 1D : 6306801135450
Option 31D : 6306801135449
Option 4 1D : 6306801135448
Status : Answered
Chosen Option : 4




Q14 Who of the following is Sth from the left in the given string?

A67#UVE?5*LH8SA9T43F3% TGD8M2XZW%X

Chosen Option :

Ans X' 1 E
X2 H
3 U
X4 L
Question Type : MCQ
Question ID : 630680291891
Option 11D : 6306801135445
Option 2 1D : 6306801135446
Option 3 1D : 6306801135447
Option 41D : 6306801135444
Status : Answered
Chosen Option : 3
Q.15 verr orarferes @der woa wer Fgomen, ‘gt AT Terear afgofer Henm R S Jur e
FT AT HE?
Ans . #T=IT
X 2. H
X 3. oT=iT
X 4 ?:I:'FIFI'!:IT?
Question Type : MCQ
Question ID : 630680291893
Option 11D : 6306801135452
Option 21D : 6306801135454
Option 31D : 6306801135453
Option 41D : 6306801135455
Status : Answered
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